
Dynamic Programming Approach for Optimizing the 
Effectiveness of Fund Expenditure with the Advantage of 

Open Government Partnership



How the Idea 
Works!

OGP is 
launched

Survey

Do the 
Math

Decisions

It is only in a unit 
of fund spending.
e.g. build a 
traditional market, 
fix the road, etc.



Is it for past or future ?

Historical data
from OGP

Predicable data
from APBD

Creating a diagram of 

Decisions of Fund Spending with respect to Period (year)

Truly for Future

By consuming



How does it relate to OGP ?
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How is the diagram looks like ?

The goal is to find minimum 
cost to go from A to N.
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